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Bt f\P Calculus AB Unit Test Name Qﬂ (A AAN +
Applications of Derivatives” Form A
Multiple Choj _active secti o
ple Choice (calculator —active section) g' =| + cosx = O
‘ | cosx ="l
(7& 1. Find all extrema in the interval [0, 2 7] if y=x +sinx W= NID
7’\ i “ (—L-l%’-) 0,00 () @m2m), 0.0 () @27, (m7)
- d)(z,7),(0,0) \@ one of these E{ ‘n"’L gm_’r
2 — T+ 0=T"
1 7 l
4 ﬁi Y 1‘ ' 2. Find all open intervals on which the function f(x) = PR is decreasing ( ‘”/) '\T) e
ot Aor®
K IGO (a).( —eo,00) . (b) (—o0,0) (c) (~o0,—2) and (1, m)‘F f(y\) :
- Yxs Iy =l h—o0,—2 ), (=2,1) and ( 1,00) e) none of these
P=¢fxedy @)=-2). (-21) and (1) R G Pax-4) - - x(xt) [

; A = AKX 3 3. A farmer has 160 feet of fencing to enclose 2 adjacent rectangular pig pens. What ™ i 2 X ‘{)
! dimensions should be used so that the enclosed area will be a maximum ? (

s »
- ft><a‘!)(~"z =

 F. .
i LPH - e O 415 ft by 8J—ft 40ft by —ft () 201t by -8?
| =1 - fg ‘P “
| _:;)J 4——{,—}~--- (d) 40ftby40ft (e) none of these - )( AL . O
— ' r — “2.
- ——1 )( + JQ 4. Given that f(x) = —x 2 +12x—28 has a relative maximum at x = 6, choose the.” 7’ HX j
; g correct statement — A -
i (D (a) f'is negative on the interval (—e0,6)  (b) f'is positive on the interval (—ee,ce) N2l
/' o AX ;‘ 3K+ ) ' is negative on the interval (6, <)  (d) f'is positive on the interval (6, =)
___)i_ /Q % “(e) none of these ‘ C oy [ -
z J; ) X + K 2’ O R,
Find the point on the graph of Nx+1 closest to the point (3 0) 0)=0 E=
/ ( x4 34 0’95 0 - e (x 2%~ )
= B g )< = -
dh 5 (et 29) 9 0.1 (% —Z—] @62 @e,B)
Y N
A 0
0 (e) none of these ‘ .
Ljort? | s(&) R4 -3t
| 2.0
’ x= @0 6. Given the function f(x) = e2 on the closed interval [-1 , 4] , if ¢ is the number \[({) @ Q)"('”
' /5 guaranteed by the mean value theorem, then ¢ (correct to three decimal places) 'lL _
is approximately
‘i\ 0 iﬂ_ﬁ.&,@)
i z a) 0.998 ; . J e) 2. { IS5 B
‘ ,) 5 (a) (b) 1.163 1.996 (d) 2.065 (e) 2.325 | l 5_3
\ 71" l// ,% 1o /\ =
ol e
‘ 7. A particle moves in a stralght line such that its distance at time t from a fixed point ,3 IZ
] on the line is given by 8- 32 units. What is the total distance covered by the ! Lf 5
i particle from t =1to t =27 :
! L'
- ‘ . . L Z
3 (@) 1 unit (b) g units @—;- units (d) 2 units (e) 5 units ‘\ 3 L‘ 3
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AP Calculus AB Unit Test Name_
“Applications of Derivatives” Form A @
‘ £19 =51 ) “dx= 0

Multipl i = i B
ultiple Choice (non-calculator section) ( g-x ) v 'R)( O

1. Find all critical numbers for the function f(x)=(9—x")*
X=t3% x=0

(@0 ()3 (c)-3,3 @3, 0,3 (e) none of these
2. Find the values of x that give rclanvc extrema for the functlon 3
. ) =(x+D) (x-2) = (x g AXHI YK~ a\) J,M’“ NEAVELN
e! max; x =-1; rel. min: X =1 (b)rel. maxx =1, x = 3rel rmnx--l 3)(“‘3\ {(x)

c)rel, minx=2  (d) rel. max x =-1; rel. min x =2 (e) none of these ( )
)( =

_p_l l( 1) X U 3. Let f"(x)=3x*-4 and let f(x) have critical numbers -2, 0, and 2. Use the g % *_ __’) -0
Second Derivative Test to determine which critical numbers, if any, gives a i I [

f ﬂ( 0 ) =4\ relative minimum N L ?
(c)0 -2 and 2 (e) none of these LA —F

: TP 2 2
fl=0U © ®) (@) ==
Mok AU
g\ ( ) 3 4 Fmd all points of inflection: f(x) =-—x -2x +15
AAEBR = 25, 525
“‘P ,,(;g < X A ¢ L_da) 2,0) (b) 2,0), (-2,0) (c) (0,15) ‘r ),(2 (—2,-?)
el (e) none of these L [  R— )
‘ - A e X, 5
5. State why Rolle’s Theorem does not apply to the function f(x) = (—-—_;T)i- on
: x
the interval [-2,0]
" (a) fis not continuous on [-2,0] (b) f(-2) # £(0)
(c) f is not differentiable at x =-1" (d)) Both a and ¢
(e) none of these /]\ 7
&E o
6. Let f(x) be a polynomial function such that f(-2) = 5, f (-2) =0, and f*(-2) =3 .
The point (-2, 5) is a ; of the graph of £ v
(a) relative maximum clative minimum (c) intcrcept
(d) point of inflection e) none of these L} ﬂ,
7. ¥ V=iftr’.whatisﬂwhcnr=3?' , df Lm(g)

' 3 dr
@4z Ol ()27 67: (€) 42

8. Determine from the graph whether f possesses extrema
on the interval (a, b).
(a) Maximum at x = ¢, minimum atx = b

Maximum at x = ¢, no minimum
(c) No maximum, minimumatx = b

(d) No extrema
(¢) None of these
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9. Which of the following is the correct sketch of the graph of the function y = x* = 12x + 207

® ; £1(9=23%x"~1%=0
cz(xl1_ L‘) = O
X = T

£10x) = 6

@ | ° ”( ;g) - B 4WJ
PAREEA

SRR SN

x—1 -
10,  Which of the following is the correct sketch of the graph of the function f(x) = x+ 27 “ /\ ﬂ ; ,

-

. (e) None of these

%= O
o-l VA X= - I~
. (%)=
Y €50
" (X-+4) ”
Fl—>2
( (b
1( N
; ? K) ol
J’ . (c) None of these L= (x 1‘;)’?(0)’7%(25’“0
P ¢ . 11 . The figure given in the graph is the second‘dcrlvatlvo of a polynomial function, £ I ‘i C)(-hl)
g

haose a graph of f£
| '
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